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3. If the product of (1 +2),(2+3), and (3 + 4) is equal to —~
the sum of 20 and x, what is the value of x ?

A. 10 B. 85 C. 105 21()
ﬁ 7 WQ
5 {UC f—f/% }O/WL)Q%

H(
20 = 9)(

4. At Ernie's Fruit Stand, 3 apples and 5 cherries cost $1.25. 15 apples and
100 cherries cost $9.25. What is the/cost of 6 apples and 35 cherries?

5A +95C =1 2‘)>
A. $3.25 4)/% -+ JOD( =9 2§

?:Z A+ )= 25% At 296 .75

Py
D. $4.00
E. $5.25 s D . OV&




5. Which of the following could be an equation for the graph shown below?
A) y=x(x+3)(x-2)

B) y =x(x+2)*(x-3)

@ =x*(x+3)(x-2) 10 T

D) y =x*(x+2)(x-3) I S i F——t——t—

Sec 9-5: Adding and Subtracting
Rational Expressions.
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Simplify. 453 — 16x2 — 20x e 6x2 — 150
Simpilify. x§3 242 +5
N f;)’g 5?()/ D e
Z)HS)X,j )(4-‘7){5("3) X*9 (X’Q’)
X0 -4 4+ 9K-9
(X+35)(X=3)
= X + &1

(x+5)(k)



Slmpllfy without using a calculator. Leave your answer
er fraction in reduced form.

D - 2=
N 7
5Q+§ 15%%

Complex Fractions: (also known as Compound Fractions)
Fractions whose numerators and/or
denominators also have fractions.



Simplify:
+ There are many

T1 . methods to do this, I'll
6 1 focus on two methods.

(e

'Y |.[>.

—

One method:

Find LCM of all the denominators in the
complex fraction.

(o( 11 1) Then multiply the numerator and

denominator of the complex fraction by this
LCM.

=1¥1¥ 2
E



N

Another method:

Get ALL the "parts" of the complex fraction
to have the LCD.
Then you can cancel all of the denominators.

5o







Simplif)sk,5<6 .. E : \
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Simplify:

i 10x
xX+35 x% 4+ Tx+10




Simplify: ﬁ +w§\‘ —
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Problems 26, 28, 44, 46, 47, 48



